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A solid metallic cube of side 634 cm,is

melted and recast into a cuboid of length

2 12 cm and breadth 9 cm. What is length

2‘1- of the longest diagonal of the cuboid?
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In a right circular cone, the radius of the
base is 14 cm and the height 48 cm. A
cross section is made through the
midpoint of the height parallel to the
base. The volume of the upper portion
is?
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(a) 1442 cm® \[o¥1232 cm? C )

(b) 1102 cm3 (d) 1120 cm?



A solid metallic cube of side 9 cm and a
solid metallic cuboid having dimensions
Scm, 13 cm and 31 cm is melted to form
a single cube. How much is the cost to
polish the new cube at a rate of Rs 10 per
cm?2?
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(a) 27,440  (b) 8,650

‘}./1 1,760  (d) 13,620
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H In a triangle ABC, length of the side AC
is 4 cm more than 2 times the length of

the side AB. Length of the side BC is 4

'3')[..(! cm less than the three times the length

7+ of the side AB. If the perimeter of AABC
is 60 cm, then its area (in cm?) is:

v fAsr ABC &, 5T AC #i1 &@1§ T AB
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(b) 150
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(d) 100



The volume of a wall whose height is 10

L- 5 times its width and whose length is 8
? 0 I times its height is 51.2 m3, What is the
Io cost (in Rs.) of painting the wall on one
/@1 n 6 side at the rate of Rs. 100/ m?2?
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(a) 12750 (4€) 12800 @
(b) 12500 (d) 12250
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A 35 cm high bucket in the form of a
ustum is full of water. Radii of its lower

a ‘* 3% (W—f"ﬁ&l&:d upper ends are 12 cm and 18 cm

respectively. If water from this bucket is

poured in a cylindrical drum, whose base
7{‘)(2.0 radius is 20 cm, then what will be the

height of water (in cm) in the drum?
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Let x cm? be the surface area and y cm?3

M/ d e the volume of a sphere such that y =
—-ﬁh:quy 14x. What is the radius (in cm) of the

3 sphere?
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(a) 51
(b) 102 @
A 42

SSC CGL 13.04.2022 (3rd Shift)



Two similar jugs have their heights of 8
cm and 12 cm respectively. If the

§‘W(M\M capacity of the smaller jug is 80 cm3,
what is the capacity of the bigger jug

\/o(j\3 (in cm’)?
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A 22.5 m high tent is in the shape of a
frustum of a cone surmounted by a
hemisphere. If the diameters of the
upper and the lower circular ends of the
frustum are 21 m and 39m respectively,
then find the area of the cloth (in m?2)
used to make the tent (ignoring the

wastage)s
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Three sides of a triangle are

% Ja? + b*unit, \/(2a)’ + b*unit and
- a’ + (2b)” unit. What is the area
(in unit square) of triangle?
(Takern = 3.14 )

A= b= r‘-‘@)z " fsrsr 1 dier srare sﬂ?lé\](2a)2+b2
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The radius of the base of a cylindrical
tank is 4 m. If three times the sum of the

areas of its two circular faces is twice the
e ———————————————————
6.1[){% area of its curved surface, then the

capacity (in kiloliters) of the tank is:

(hefT® IR THY & TR Fr B 4 Frew ¥
afg 39& & AR g1 F & AGal & AT FH

diet I, $UF aF ST TG F QN §,

ar hr Y arHar (et siier #) fFaet aefie
(a) 108%
(b) 54n
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The areas of three adjacent faces of a
Q‘Z cuboidal solid black of wax are 216 cm?,
;: ( 96 cm? and 144 cm?, It is melted and 8
cubes of the same size are formed from

ﬂb"’ it. What is the lateral s areéx(in
cm?) of 3 such cubes? & Yo 2
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A well with inner radius 3 m, is dug 6 m
deep. The soil taken out of it has been
spread evenly all around it to a width of
2 m to form an embankment. The height
(in m) of the embankment is:
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The volume of a right circular cone is
308 cm?® and the radius of its base is 7
cm. What is the curved surface area (in

x| 5‘1)(3\-: 0% cm?) of the cone?

U W@d qqd UF F HAGT 308 FHAR § 3R

3% IMUR A B 7 A § AT FoTE

s RS g8 aAwa (AHR2 A7) Rraer 87
(a) 22421
(b) 44421

-?21“ e} 22,/85
(d) 1185
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The base of a right pyramid is a square of

side 812 cm and each of its slant edge is
of length 10 cm. What is the volume (in
cm?) of the pyramid?
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The curved surface area of a right

ﬂ Y 8% 3{ circular cone is 2310 cm? and its radius
—

Q.%—]-‘B is 21 cm. If its radius is increased by
o — 100% and height is reduced by 50%, then
fk ﬂ its capacity (in litres) will be (correct to
tsg one decimal place):
23 UF oF gAld AF FT a5 O &% 2310
S Q\ QU 82§ AR swdr Bsr 21 /A 7 ik sEh
Y2 1y fsar 100% & @1 & se 3R 39 50% @
[2— FH HT &I AT, af SHHT &77ar (e /) T4
/= LXRYRIEX\Y
gl (Th T dF Hal):

?'S’Gx‘g_ (a) 27.8

(b) 28.2

(c) 26.7

: [a725.9

SSC CGL MAINS 03 Feb 2022



The height of a solid cylinder is 35 cm.
The circumference of its base is 37 cm
more than radius. What will be the
volume of this cylinder?

UH 3 dd« 61 F91$ 35 A g1 58S MUR
1SYXIS & oRfer swht Browm @ 37 W e B oW

delel T ATAAST FIAT M2
/%) 4740 cm?
\1b) 5390 cm3
€) 4850 cm?

)u) 4420 cm3

®
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Volume of cone whose radius of a base
and height are r and h respectively, is
400 cm3. What will be the volume of a
cone whose radius of base and height are
2r cm and h cm respectively?

TS uF, oaF IUR A B qur F9rE FAw:
r TUT h §, FT HAAT 400 FH? gl F U,
oad AUR i BT YT FA1E FAA: 2r FAT

aur h ¢ A 8, FT 3TITT FAT NP

(a) 100 cms
b) 1600 cm3

(c) 1200 cms
(d) 800 cm3 SRl PUENIIPlp)!



The area of a triangular park whose sides
17

ILFO are 160 m, 300 m and 340 m is 4 — of
@W:‘g,v,( "L 22

the area of a circular park. What is

the perimeter (in m) of the circular
@ park (correct to one decimal place)?
oS |- UF RASATHER 9 FT &A% [SHhT ST 160

am( = |0 HiT, 300:ﬁu3ﬂ1340:ﬁa%lwqﬁm
B tnﬁ:a’l;aﬂmm4 %lq?rm'\rtnﬁ:a?r

(a) 240.2 .
(b) 253.2 IRATT (HeXT A) (vF qAAATT T d& Hal)
251.4 FT &?
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What is the radius (in m) of a circular

3—_ 12 filed whose area is eqqgl to six times the

area of a /tnangular field whose sides are
35 m, 53 m and 66 m?

"?WIIXZHXMQ}’EF qam Hzw A1 P (Hrex /) T §,
fSras aawd e REeR A F Avd F

:EAL:WX?X&KQ 8% @ F T g, forwshr gee 35 Hiew, 53

7 | ez 31t 66 Hex &2
(a) 21
NG
(c) 13V3

(d) 1416
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A road curve is to be laid out on a circle.
What radius should be used if

the track is to change direction by 42° in
distance of 44 m?

(Assume n = 22/7)
U gd W UF THR ¥+ Qo = ¢l 3G

9y F 44 HieT T gl 7 42° F o ot @
ar Fa B &1 3 R qIRT? (AT

Aot n = 22/7)
A4 60 m (b) 66 m
(c) 75 m (d) 80 m



If p, q, r, s and t represent length, breadth,
height, surface area and volume of a cuboid

{:-.:.(1/3\ _ 11

respectively, then what is — +—+- equal to?
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The radii of the flat circular faces of a
bucket are x and 2x. If the

height of the bucket is 3x, what is the
capacity of the bucket?

| . T dlec! & WAA JAHR Berdl hl AT x
.-3-1'((‘7( ""1%—(—7\*}%(‘)'2\3 gl af¢ aredt i 31§ 3x ¢, A qect
eTRer 4T 37
lz'l@' (a) 11x3 '/{-Bf 22x3
. (c) 44x° (d) S5x3
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Four circular coins of equal radius are
placed with their centres coinciding with
four vertices of a square. Each coin touches
two other coins. If the uncovered area of
the square is 42 cm?, then what is the
radius of each coin?

A Bd § 9R R fed @ v § Gad
Fg TH g7 F IR et W Bua g1 v+ R
&l 3T AFHT FY T FLar g1 T T9F &1
(AL'_‘“ L:Hzﬁﬂlhﬁliaam42'ﬁ?ﬁ2%,ﬁ’f ﬁﬁaﬁrt
RN CONG's 3 )
(a) S cm 77 cm
(c) 10 cm (d) 14 cm
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A sector is cut from a circle of radius
21 cm. If the length of the arc of the
sector 55 cm, what is the area of the

‘ sector?

UH ga@s H 21 A B3 & v g § Fre
“ ST ¢l IfE gaEs & 919 A d«rs 55 A §,

(b) 612.5 cm?
(c) 705.5 cm?2

(d) 7285 cm?
| CDS 2021
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A hollow spherical shell is made up of
a metal of density 3 g/cms3 . If the

M V internal and external radii are 5 cm
Kwand 6 cm respectively, then what is
the mass of the shell?

U @@l MAHR AE0T 3 JqrH/ET FA
E]_,(ggxfgmz Hdcd & U1 @ q@ g1 I i AR aed
fsar A 5 4 3R 6 A &, aY mavor #

SK22
GETATT AT §P .mtl g

(b) 1024 g
(c) 840 g
(d) 570 g

CDS 202 1



A rectangular paper is 44 cm long and
.:) = 22— 22 cm wide. Let x be the volume of
! the laggest cylinder formed by rolling

YY=s  v:
L

h
hf#ézaper along its length and y be
the volume of the largest cylinder

formed by rolling the paper along its
2/2)( width. What is the ratio of x to y?

TS NMAATHR FETT 44 HT oFaT 30T 22 T

@ i3t 81 AT x, FEIS H 3HH AFE F HTET

‘)llgnmwaﬁagmmm%aﬁ?y,
d .
Uﬁ)z:lmﬁmﬁrma?mwwqtaﬁ

(c) 1:2 &3 a0 FT IFAA ¢l x I y FT Ui 4T
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A metal solid cube of edge 24 cm is
melted and made into three small
cubes. If the edge of two small cubes
are 12 cm and 16 cm, then what is
the surface area of the third small
cube?

24 {A =T F TH 3 gA F WueE e
BIC U 9 AT g1 IS &Y B "al A HSw
12 ¥ 3R 16 ¥+ §, a Y B ua &
g8 &A%l T §?

(a) 1200 cm?2
(b) 1800 cm? @
IeJ 2400 cm?2

(d) 3600 cm?



The difference between the outside
and the inside surface area of a
cylindrical pipe 14 cm long is 44 cm?2,
The pipe is made of 99 cm?® of metal.
If R is the outer radius and r is the
inner radius of the pipe, then what is
(R+r) equal to?

TF 14 @A dFe TSR 9B & aed 3N
HANF To1T &ahel F & HaT 44 T FAA
¢l UIST 99 U WHT U ¥ ¥« §1 I R 93
&1 argdr B § 3R r gy A 3aRs B

g, al (R + r) T AT F4T g?
(a) 9 cm

(b) 7.5 cm

(c) 6 cm
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